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X = 3.141658306

X =3.141345501

X = 3.141639233 10 ,
X = 3.142002106 Z (xl.— X)
X = 3.142032862 ¢ =| =t

X = 3.141812563 X 10

X =3.141617537
X.=3.141233921
X,= 3.141350508
X = 3.141228914

X=3.141583920 > = 0.000282419



Logaritmicka konvergence k TT
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X*sin“(x)



X = 9.823475838
X, = 9.827411652

X = 9.825374603 0
X, =9.822722435 Z \2
X = 9.820886612 (X;—X)
X = 9.823526382 S =\ =1

— X
X =9.823922157 10

X = 9.830410957
X,= 9.823957443
X, = 9.825336456

X= 9824702454 S =0.002516213



(X)

X*sin?




Porovnani vysledku:

Metoda Monte Carlo:
0.824702454

Numericka metoda:
0.824164489

Analyticke reseni urcitého integralu:
0.824377635



SIn(Xy)*cos(xy)=y



SIN(Xy)*cos(xy)=y

X,= 22.4763842
x,= 22.4661048
X = 22.4846952
X,= 22.4906761
X, = 22.4774352
x = 22.4762928
X_= 22.4752512
x = 22.4856128
X, = 22.4881728

X, = 22.4798645

x= 22.4800488

S = 0.006952197



SIN(Xy)*cos(xy)=y




Dekujeme za pozornost!
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